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Exercice 1

Compléter sans calculatrice :

I1. 10 000 × . . . . . . . . . . . . . . . . . . = 76 000

I2. 1,12 ÷ 100 = . . . . . . . . . . . . . . . . . . . . . .
I3. 1 000 × 0,634 = . . . . . . . . . . . . . . . . . . . .
I4. 10 × 77,2 = . . . . . . . . . . . . . . . . . . . . . . .
I5. 0,001 × . . . . . . . . . . . . . . . . = 0,000 737

I6. 0,1 × . . . . . . . . . . . . . . . . . . . . . . . . = 7,7

I7. . . . . . . . . . . . . . . . . . . . . . × 15,8 = 0,158

I8. . . . . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 4,87

I9. 0,000 1 × 50,1 = . . . . . . . . . . . . . . . . . . .
I10. . . . . . . . . . . . . . . . . . . . . . . . × 7,84 = 784

I11. . . . . . . . . . . . . . . . . ÷ 1 000 = 0,000 455

I12. 26,8 ÷ 10 000 = . . . . . . . . . . . . . . . . . . . .

Exercice 2

Compléter sans calculatrice :

I1. 10 × . . . . . . . . . . . . . . . . . . . . . . . . = 3,39

I2. 6,4 ÷ . . . . . . . . . . . . . . . . . . . . . . . = 0,64

I3. . . . . . . . . . . . . . . . . . . . . ÷ 100 = 0,040 4

I4. 0,000 1 × 0,18 = . . . . . . . . . . . . . . . . . . .
I5. 100 × 74,1 = . . . . . . . . . . . . . . . . . . . . . .
I6. 0,1 × 35 = . . . . . . . . . . . . . . . . . . . . . . . . .

I7. 0,001 × . . . . . . . . . . . . . . . . . . = 0,001 5

I8. . . . . . . . . . . . . . . . . . . . . . . × 5,9 = 0,059

I9. 10 000 × 90,4 = . . . . . . . . . . . . . . . . . . . .
I10. 8,33 ÷ . . . . . . . . . . . . . . . . . = 0,000 833

I11. 1,41 ÷ . . . . . . . . . . . . . . . . . . = 0,001 41

I12. 1 000 × . . . . . . . . . . . . . . . . . . . . . . = 918

Exercice 3

Compléter sans calculatrice :

I1. . . . . . . . . . . . . . . . . ÷ 10 000 = 0,000 37

I2. . . . . . . . . . . . . . . . . . . . . . . . ÷ 100 = 0,65

I3. 1 000 × . . . . . . . . . . . . . . . . . . . = 23 900

I4. 0,001 × 3,63 = . . . . . . . . . . . . . . . . . . . . .
I5. 100 × 3,5 = . . . . . . . . . . . . . . . . . . . . . . .
I6. 10 000 × 0,174 = . . . . . . . . . . . . . . . . . . .

I7. 0,1 × 7,1 = . . . . . . . . . . . . . . . . . . . . . . . .
I8. 0,01 × 0,61 = . . . . . . . . . . . . . . . . . . . . . .
I9. 9,72 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,972

I10. 10 × 5,23 = . . . . . . . . . . . . . . . . . . . . . . .
I11. 0,000 1 × 28,6 = . . . . . . . . . . . . . . . . . . .
I12. 0,191 ÷ 1 000 = . . . . . . . . . . . . . . . . . . . .

Exercice 4

Compléter sans calculatrice :

I1. 1 000 × 6,74 = . . . . . . . . . . . . . . . . . . . . .
I2. . . . . . . . . . . . . . . . . . . . . . . × 1,8 = 0,018

I3. 100 × . . . . . . . . . . . . . . . . . . . . . . . = 61,5

I4. . . . . . . . . . . . . . . . . . . . . . ÷ 10 = 0,056 1

I5. 0,001 × 7,7 = . . . . . . . . . . . . . . . . . . . . . .
I6. 0,000 1 × 6,73 = . . . . . . . . . . . . . . . . . . .

I7. 15,6 ÷ 10 000 = . . . . . . . . . . . . . . . . . . . .
I8. 81,9 ÷ . . . . . . . . . . . . . . . . . . . . . = 0,819

I9. . . . . . . . . . . . . . . . . . . . . . × 8,86 = 0,886

I10. 10 × 9,56 = . . . . . . . . . . . . . . . . . . . . . . .
I11. . . . . . . . . . . . . . . . . . ÷ 1 000 = 0,004 04

I12. 10 000 × . . . . . . . . . . . . . . . . . . = 35 700
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